

Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS AURORA DISTRICT ENGINEERING OFFICE

Baler, Aurora, Region III



a.jpopa

Contract ID: 25CN0019 Contract Name: Replacement of Permanent Weak Bridges Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija – Aurora Rd

CONTRACT AGREEMENT

THIS AGREEMENT, made this July 11, 2025 between **Department of Public Works and Highways (DPWH)** at Brgy. Reserva, Baler, Aurora (hereinafter called the "Entity") and **RNGM Construction Corporation** at Brgy. Sabang, Baler, Aurora (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute **25CN0019** – **Replacement of Permanent Weak Bridges, Dipawan Br. (B02825LZ) along Nueva Ecija** – **Aurora Rd** (hereinafter called "the Works") and the Entity has accepted the Bid for **Nineteen Million One Hundred Seventy Eight Thousand Eight Hundred Sixty Four Pesos and 52/100 (P 19,178,864.52)** by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

WHEREAS, the whole WORKS in this PROJECT as covered by this CONTRACT shall be completed within *Two Hundred One (201)* calendar days in accordance with the provisions of the Bid documents.

WHEREAS, "slippage of more than 30 days in the original schedule would result in nonpayment, the cancellation of this contract, blacklisting, and the entry of a new contractor who will finish the project"

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, *viz*.:
 - a. Philippine Bidding Documents (PBDs)
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities;
 - iv. General and Special Conditions of Contract;
 - v. Supplemental or Bid Bulletins, if any

2019"

REYNANTE P. VALDEZ

DANGO

OHAY

Engineer l

President/Owner/Manager

NOEL S. TOLEY

RODERICK A. ANDAL District Engineer

DPWH-INFR-51-2016

Accountant III



REYNANTE F. VALDEZ

OHAY

NIC <u></u>

NOEL S. TOLEI

Engineer

Manad V/TINO

President/Owner

District Engineer

DPWH-INFR-51-2016

ğntant III

Accol

Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS AURORA DISTRICT ENGINEERING OFFICE

Baler, Aurora, Region III



Contract ID: 25CN0019 Contract Name: Replacement of Permanent Weak Bridges Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija – Aurora Rd

> b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and Bidder's conformed thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Nineteen Million One Hundred Seventy Eight Thousand Eight Hundred Sixty Four Pesos and 52/100 (P 19,178,864.52) or such other sums as may be ascertained, Construction Corporation agrees 25CN0019 to RNGM Replacement of Permanent Weak Bridges, Dipawan Br. (B02825LZ) along Nueva Ecija - Aurora Rd in accordance with his/her/its Bid.
- 4. The Department of Public Works and Highways (DPWH) agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.



Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS AURORA DISTRICT ENGINEERING OFFICE

Baler, Aurora, Region III



Contract ID: 25CN0019 $\mathcal{W}(t)$. Contract Name: Replacement of Permanent Weak Bridges Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija - Aurora Rd

2019" DEZ	Item No.	Description	Unit	Quantity	Orig, Unit Cost	Total Amount			
20 DE	PART A - I	ACILITIES FOR THE ENGINEE	R						
Subject to the Provision of Executive Order #91 S' 201 Subject to the Provision of Executive Order #91 S' 201 ar Aba. Hibrido REYNANTER. VALDEZ Engineer III Accountant III	A.1.1(3)	Construction of Field Office for the Engineer	l.s.	1.00	192,615.96	192,615.96			
	A.1.1(11)	Provision of Furnitures/Fixtures, Equipment & Appliances for the Field Office for the Engineer	l.s.	1.00	68,040.00	68,040.00			
- Cut	PART B - C	THER GENERAL REQUIREMEN	ITS						
Exe	B.5	Project Billboard/Signboard	ea.	2.00	8,720.95	17,441.90			
ion of E	B.7(2)	Occupational Safety and Health Program	l.s.	1.00	292,818.24	292,818.24			
wis	B.8(2)	Traffic Management	l.s.	1.00	157,885.20	157,885.20			
Engineer		Mobilization/Demobilization	l.s.	1.00	141,134.40	141,134.40			
to the	B.13	Additional Geotechnical Investigation	l.s.	1.00	63,000.00	63,000.00			
fect	PART C - E	ARTHWORKS							
HON	101(3)b3	Removal of Actual Structure/Obstruction (0.23m thick PCCP, Unreinforced)	sq.m.	673.20	267.00	179,744.40			
	102(2)	Surplus Common Excavation	cu.m.	883.68	573.97	507,205.81			
By: Party of the Second Part TINO NICOMEDES G.	103(2)a	Bridge Excavation (Common Soil)	cu.m.	50.28	575.56	28,939.16			
ne Second NICOMED	104(2)a	Embankment from Borrow, Common Soil	cu.m.	254.55	795.60	202,519.98			
NIC I I	- 105(1)a	Subgrade Preparation (Common Material)	sq.m.	889.53	18.76	16,687.58			
	PART D - S	UBBASE AND BASE COURSE							
Pal de	200(1)	Aggregate Subbase Course	cu.m.	51.85	803.96	41,685.33			
	PART E - S	URFACE COURSES							
Department of Fublic Works and Highways By: Party By: Party of the First Part RODERICK A. ANDAL NOEL S. TOLENTINO District Engineer President/Owner/Mannger	311(1)e1	Portland Cement Concrete Pavement (Unreinforced, 0.28 m thick, 14 days)	sq.m.	820.22	1,240.24	1,017,269.65			
it s	PART F - B	PART F - BRIDGE CONSTRUCTION							
siden	400(17)h	Concrete Piles cast in Drilled Holes, 1.50m dia	m.	72.00	76,099.28	5,479,148.16			
vorks art Pre	400(23)h1	Permanent Casing, 1.50m dia. (10mm thick)	m.	16.00	38,152.17	610,434.72			
irrst P NDAI	400(26)b	Pile Integrity Testing (Low Strain)	ea.	2.00	47,497.07	94,994.14			
pepartment of Public V By: Party of the First P Poberick A. ANDAL District Engineer	400(27)	High Strain Dynamic Testing (P.D.A.)	ea.	2,00	271,554.33	543,108.66			
y of y of ict l	401(2)a	Concrete Railing, Standard	m.	40.00	4,352.63	174,105.20			
arti art bei	404(1)a	Reinforcing Steel (Grade 40)	kg.	1,676.27	65.84	110,365.62			
D.C.	404(1)b	Reinforcing Steel (Grade 60)	kg.	48,804.50	71.60	3,494,402.20			

DPWH-INFR-51-2016

Page 3 of 5



Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS AURORA DISTRICT ENGINEERING OFFICE

Baler, Aurora, Region III



Contract ID: 25CN0019 The Population . Contract Name: Replacement of Permanent Weak Bridges Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija – Aurora Rd

THE PART AND ADD DOT									
A VALDEZ	405(1)b3	Structural Concrete (27.58 Mpa, Class A, 28 days) - Bridge Structure	cu.m.	227.09	9,888.00	2,245,465.92			
Oraer #91 S YNANT F. VAI Accountant III	407(8)	Lean Concrete, Class B, 16.50 Mpa	cu.m.	1.94	6,365.98	12,350.00			
ave Oraer #*	517(1)a	Drain Pipe, Galvanized	m.	12.00	4,710.42	56,525.04			
EVN	PART G - DRAINAGE AND SLOPE PROTECTION STRUCTURES								
	505(2)a	Grouted Riprap (Class A)	cu.m.	30.60	4,414.80	135,092.88			
o	506(1)	Stone Masonry	cu.m.	12.75	4,525.12	57,695.28			
allo un	510(2)	Concrete, Slope Protection	cu.m.	42.74	10,136.75	433,244.70			
reet in the	PART H - M	ISCELLANEOUS STRUCTURE		••••					
AY Engineer all Accounted order #91.5	612(1)	Reflectorized Thermoplastic Pavement Markings White	sq.m.	24.00	800.68	19,216.32			
	612(2)	Reflectorized Thermoplastic Pavement Markings Yellow	sq.m.	18.00	877.69	15,798.42			
	PART D - REINFORCED CONCRETE								
NICOMEDES GNOHAY	902(1)a1	Reinforcing Steel (Deformed), Grade 40	kg.	1,557.53	66.89	104,183.18			
Engineer III	900(1)i	Structural Concrete, Class A, 28 days	cu.m.	13.01	6,811.59	88,618.79			
gine	PART L - F	LOOD AND RIVER CONTROL A	D DRAIN	AGE					
En	PART L-B -	BANK AND SLOPE PROTECTIO	N WORK						
TINO NICOMEDES G.	1717(2)a1	Sheet Piles, Steel, Slope Protection	m.	288.00	8,948.36	2,577,127.68			
der)					Total	19,178,864.52			
TRA I									
President/Owner/Manager									
t Part AL									
By: Party of the First Part RODERICK A. ANDAL NOEL S. TOLE District Engineer President/Owner									



Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS **AURORA DISTRICT ENGINEERING OFFICE** e d'Aurit

Baler, Aurora, Region III



AND STORED Contract ID: 25CN0019 Contract Name: Replacement of Permanent Weak Bridges Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija - Aurora Rd

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

(PARTY OF THE FIRST PART)

Represented By:

3

RODERICK A. ANDAL District Engineer

RNGM CONSTRUCTION CORPORATION

(PARTY OF THE SECOND PART)

Represented By:

NOEL S. TØLENTIN President/Owner/Manager/AMO

Witnessed By: ATDA G. HIDALGO Engineer III

O.K. AS TO AVAILABILITY OF FUNDS:

REYNANTE F ALDEZ Accountant III

NICOMÉDES G. NOHAY Engineer III



2019"

" Subject to the Provision of Executive Order #91 S'

O.K. AS TO AVAILABILITY OF FUNDS

RNGM CONSTRUCTION CORPORATION

By: Party of the Second Part

Department of Public Works and Highways

By: Party of the First Part

Republic of the Philippines

NOHAY

NICOMED

Enginee

Manag

Pre/sident/0wn

TINO

IOEL S. TOLEN

RODERICK A. ANDAL District Engineer

Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS AURORA DISTRICT ENGINEERING OFFICE

Baler, Aurora, Region III



Contract ID: 25CN0019 SING C $\{\mathcal{F}_n\}$ Contract Name: Replacement of Permanent Weak Bridges NATE: Replacement of Contract Location: Dipawan Br. (B02825LZ) along Nueva Ecija - Aurora Rd Republic of the Philippines REYNANTE EVALDE2 Province of Municipality of PORA Accountant III

Markin, Perg., 1977

ACKNOWLEDGEMENT

BEFORE ME, a Notary Public for and within the Municipality of MARIA AUROPA. AUROPA, AU Engineer representing the REPUBLIC OF THE PHILIPPINES, with Tax Identification No. <u>918-216-037-000</u> and **NOEL S. TOLENTINO** representing RNGM CONSTRUCTION CORPORATION with Taxpayer Identification No. known to be the same person to be executed the foregoing Contract Agreement and they acknowledge to me that the same is their true act and deed for and in behalf of the parties they represented.

IN WITNESS WHEREOF, I have hereunto affixed my signature and seal this anna 19

ปกา Doc. No. Page No. _ Book No. Series of

OSDADO O. PADILLA I Notary Publicic Until DECEMBER 31, 2025 IBP O.R. No. 418454, 01-12-24 Roll of Attorney No. 35725 MCLE VIII-0029766 PTR No. CBN-1929232, 12-02-24 PROVINCE OF AURONA